Lése folgende Gleichungen.
Berechne zur Kontrolle jeweils die Probe.

2x—1 =ll*2
2 3

2x—1:%|+1
3

B/x—-6Fx-T+2=13x-2(x+10)+ 22
29x-5=13x—-2x—-20+22
29x—-5=11x+21-11x

o 18x—-5=21+5

18x=71:18
_T
18
3 OO o 330
412
%x+6x+6 = 2x+61%12

Ox+6x+6=24x+72
15x+6=24x+721-15x
6=9x+721-72
-66=9x1:9

35x—=(6—x)—7+2=13x—-2x+10)+29*3

35x—6+x—-5=13x-2x—-10+87
36x—11=11x+771-11x
4 25x—-11=T771+11
25x =881:25
x =352



3+ (5x—6)—(x—7)+2=13x—2x+10+29
3+5x—6-—x+7+2=11x+39
6+4x=11x+39]—4x

5. 6=7x+391-39

—-33=T7xI:7

x=-4,71

973 o= Leanr6-9
14 9

9x-3 +2x=Ex—§—9
14 379

X3 =1t 921
14 3 3

9x—3+28x:%x—135l

6. 3 3

37x-3= %x—BSl I +135l
3 3 3

37x+132l = %x | -37x
3 3

132l= 281xlr 28l
3 3 3
x=4,67

6—4x :26,5_10x+2x
4+8

6%x+1,5—x=26,5—12—x
3 12

2001x+
3

7 52x+1,5=26,5—xl+x
-3

6§x+ L,5=2651-15

62x:25 I:6g
3 3

x=3,75

3,5 ® (20,5x - 30’5) — 72’5 _ 72,5x _ M

71,75x—-106,75=72,5-72,5x - 30x + 20
71,75x—-106,75=92,5-102,5x 1 +102,5x
174,25x —106,75 = 92,51+106,75
174,25x =199,251: 174,25

x=1,143



7502x+3+5x—4012-303+4x—3u+lel 5= A8

15x+3+ 55— 48— 0+ dx—3x+15= X348

21x—52,5=35L234’8|*2

42x—-105=35x+34,81-35x
Tx—-105=34,81+105
Tx=139,81:7

x=19,97

10. 1,22 +2,7x 2-1,5x-0,525:7,5=11,01 +1,5 1,1x-3,3

1,22 + 5,4x-1,5x-0,07=11,01+1,65x-3,3
1,15+43,9x=7,71+1,65x |-1,65x

1,15+42,25x=7,71 [-1,15
2,25x= 6,56 |:2,25
X=2,92

2,5x—9-1,25032x—18,7+12x=(1,9x+0,4-44,8x—091)e2

25x—9—-4x—-18,7+12x=(-429x—-0,51) 2

10,5x—27,7=-85,8x—1,021+85,8x
11.96,3x—27,7=-1,021427,7

96,3x =26,681:96,3

x=0,277

3%33()6—5)—3%2:1421%:0,5—4—(11+6x)°2

82x—410—3x+2=2842—-4-22—-12x

79x —408 = 2816 —12x 1 +12x
12.91x - 408 = 28161 +408

91x =32241:91

x =35,43



